® 5 @ 7 @14

@ 2

R4 E oht.

SE
o]k,

ol

“d

o__._\__\_
@1M
© ©




@ 2x5 ® 2x7

350 =2x52x 7 O|EZ @ 22 x 52 & oF=7} oft},




3.  H&E FolA F T ARAR] AR2Y

@ (14, 22) @ (21, 49) ® (27, 72)
@(15, 58) ® (2, 20)

€8
212k 8] = 0 FtgofE ol
@ (14, 22) = 2

@ (21, 49) =7

®(27, 72) = 9

@ (15, 58) = 1

® (2, 20) = 2




A7

Tlo

e @, 09 459 ARIFH4E Az A

@ 33,121 © 39,65

O 3,18 ® 11,15 @ 33,13

@®)11, 13 ® 11, 39

&) 11) 33 121

3 11
watq @o] Hrj okt 11 o]t
O 13) 39 65

3 5
watq ©9] Hrj okt 13 o]t




=
T

A% A 9k B 9 AHFETL 8 A o, Bopse] A

1/ @271 O 3 €)4m ® 57

~&B

e st ofpolng Fobgo] e 3
4-0] oF4=0] 7| 4=0f e,

FfFoFr 8 & AU ol5HH 8 = 23 o]|B & oFp0] =
3+1=4 (7)°lch

oA £ FAG-0] FoF4=9] Ja= 4 FHolt.




36 , 48
@D 2x3 @ 2x32 ® 22x 32
@ 2'x3 (9)24 x 32

B

2) 36 2) 48
2)18 2) 24
3) 9 2) 12
3 2) 6

3

.86=2"x3%  ..48=2'x3
wabA] ZAFujaE 24 x 32 oo},




B

ol 2 glid] 4
oA o] R E, Gotold Lo $5E hehd 4 gk £
ofef 2o $EE tehix, £ 9t Y HEE Lehdc,
BRAE Fo BT s AT B9 57t A47} shetetn 2
28 AgU

rlo
H
rlr
S
Q
i
N
N
lo
tl
of
o
5
of
_O|L
fru
b




olJ
XS
olJ
o8

ol

ol
o
X

oA

il
<

ojn

3 7N

© g% :

370 @ g T A

® Fol Kol

@3+ 37

, 3 0 4 7jo]tt,

Y
8

‘ @ X(;Lzl\_% _57 O’




9. =32 FAAA, F3t Fol Yetdl= 5 gt &2
opdA-g ZFrota},
AC E B D
-4 -3 -2 -1 0 1 2 38 4
7
(DA:—5 @3:2 ® C:-1.8
@D:+E ® E:0




ny

m
£ §
w [
9
i M
&
W X
R
Y Nlo
M_l <k
o° Uk

4,44 o|t}.

=
Lo

® Zdoigtol 4 ¢




11. o8 % AW 23} b 2 28

@D (+4) + (+5) @ (-6) + (-1) ® (+3) + (+5)
@ (=7)+ (-5) @(+3)+(+7)

O (+4) + (+5) = +9
@ (-6)+ (-1) =-7
® (+3) + (+5) = +8
@ (-7)+ (-5) =-12
® (+3) + (+7) = +10




12. o5 Avt 42 O ©°M AHE (—4) x (+13) x (-25) Jo

Ao A MAS SEA R _(413) % (—4) x (-25)

A& e Fetek _(+18)+ (1) x (<291 ©
=(+13) x (+100)
=+1300

@6 wargn, 0 283
@ @: LEPH, © : B
® @: AEH, O BN
@ @ 2EE, O 2gN
® @: AYHH, O L
axb=bxa

I

(axb)xc=ax(bxc)=axbxc




@ (-2)°=8,@ —(-1)> =1,
®-32=-9, ® (-3} =27

~—




—
=
i)
oo
Dl
2
of
glo
)
52
Tlo
N
rlo

-9

@ (+18) = (-6) = -3 @ 0+(-4)=0

0 (9-(3)=3  warkes

@ (+18) + (-6) = -3

@0+(-4)=0
0(4)+(- (-
@—4+%:(—4)x2:—8

0 () ()= (=)=




a=-6,b=+42,c=1°B2a+bxc=(-6)+2x1=-3
oltt.




16. the<Bl> 3 2SR} £4 e AL BE NEW)

B7
@ 52=13x%x5 © 20=2%2x5
©® 80=2%*x5 ® 120=23x3x5
@ 84=22x33
@o.e @ 0© ® 0@
@ ®,0 ® 9,06,
@52=22x13

@84 =22x3x%x7




17.

*E 3609 451 949 ), x 9] AL

o2/ @s3MH  @sH  @16A

® 3274

360 =23 x 32 x5 O|B2 A2l 2 3, 50|tk
A, x| 4 3() ol ek,




@ 8 @15 @ 30 ® 32

D 4

B

2+ x(1+1)x(1+1) 0|22
axb (a, b= 25),

12

]

a#2, b#2°|BR 7P A2 o5

15




19.

o AA,E 3 08 Y 1 o] 1, 4 B YT 2 7F et
ek, ofefet 25 hEste A § 7P A2 ¢ Aok
@10 @ 12 ® 8 @ 22 ® 14

Fohe e 3, 4 2 s 1 271 5% polBER

(3 4 9 FHl)-2 <1 Foltt.

3, 4 9] aFul7 12 O] B2 TP A2 AA4E12-2=10
o},

* 10




® 2

4

® 0




